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How do we find them

Parameters in logisticregression
wit IR are usually

fit by maximum likelihood

Consider the 2 class problem
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To find w that maximizes w
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nonlinear
equations

There is no closedformsolution for
above

How do we solve for w

Needto use optimization
methods to solvefor theseparameters

gradient
Descent Ascent

w
hidew Gradient Descent

with w n e w Dl w Newton'sMetted

Drawback of thesemethods
GradientDescentNewton is

that eachstep requires O N computation

Not feasible when N is very
large

Stochastic GradientDescent
SGD

Regularization
X Iw II or XIwell shouldbe used


